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1- Choose to answer (a) or (b)
Write down the scientific concept that expresses:

(a) The self inductance of a coil that generates an
induced electromotive force of 1 volt when the
current intensity through it changes at a rate of
1 Ampere / sec.

(b) The intensity of the direct current that generates
the same power in a resistance as that generated
by the considered alternating current.
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2- Choose to answer (a) or (b)
Mention one use of:

(a) Thermal imaging.

(b) The electron microscope.
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3- Choose to answer (a) or (b)
What is meant by:

(a) The electromotive force of a source 1.5 Volt?
(b) The quantity of charge that passes through
a given cross-section of a conductor in one
second is 10 Coulombs?
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